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#include <stdio.h>;

main()

{

scanf(““%x,%y”,&X,%y)

p=prodct(x,t)

printf(“The product is :”,p)

}

int prodct(inta ,intb)

{

intc

c=a*b

returnc

}
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# include <stdio.h>

main()
{
int x,y,a;
scanf(*“%x%y,&x,&y);
a=(x+y)/2;
printf(“The average is :”a);
}
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main()

{
inta,b;
float c,d;
long e,f;
unsigned int u,v;
char c1,c2;

scanf(*“%d,%d”,a,b);
scanf(“%f,%f”,c,d);
scanf(*“%ld,%ld”,e,f);
scanf(*“%0,%0”,u,v);
scanf(“%c,%c”,c1,c2);

printf(‘“\n”);
printf(“a=%7d,b=%7d\n”,&a,&Db);
printf(“c=%10.2f,d=%10.2f\n”,&c,&d);
printf(“e=171d,f=%171d\n”,&e,&f);
printf(“u=%0,d=%0\n”,&u,&V);
printf(“c1=%c,d=%c\n”,&c1,&c2);
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scanf(“%d,%d”,&e,&f);
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scanf(*“%d,%d”,&u,&v);
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5. Kt e , f MIERIECN:
printf(“e=%17d,=%17d\n” e,f);
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6 . B u. v RERECN:
printf(“uv=%u,v=%u\n",u,v);
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printf(“u=%d,v=%d\n”,u,v);
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if (2>1&&b==0) x=x/a;
if(a==2||x>1) x=x+1;
}
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